Paper: B.E_B.Tech

Set Name: |SET 22

Exam Date: | 28 July 2022

Exam Shift: | 2

Langauge: | Telugu

Topic: Physics-Section A
Item No: 1

Question ID: 15477154521
Question Type: | MCQ
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Topic: Physics-Section A

Item No: 2

Question ID: 15477154522

Question Type: | MCQ

500 t=00650 2.8 E090 7 5 cm, DN 0D 2.8 oS
A8 0stso Indten DEOB. TR z VE0. B =8 5% o0

Question: SB 1 00 § A0S A TR 3t HOAW 5
DB FDOTPE. t=1s S EE20 A0 OO ¢ g3zaren (§od aredes’
25N Do) Fod.)

A: -30y

B: 30y

C: 3x+15y

D: 3% +155 + 72

Topic: Physics-Section A

Item No: 3

Question ID: | 15477154523

Question Type: | MCQ




2,8 25350 HOYY oD A 20HEK ST, L0 DT I8 T30
10 em? , 22038080 0533 3 5B 20 ms &0 N0AE oI WG Q)

Question: | rext' 8 B9 B BPOSEOMT DRSFODS DD eS0T FESaES 200
D3 ro(ded = 1000 kg/m® T 2]

A 300N

B: 500N

C: 250N

D: 400N

Topic: Physics-Section A

Item No: 4

Question ID: 15477154524

Question Type: | MCQ

2,8 165658 T°F m OGN 8¢9 L’ 690 5B Feny (8565:0°F B
SDOGN 0T B ED) NN YDLE. I I 8rcsed )38 .58
LSRR &R DTTNO N0 $3EI2IRSE BTN
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Topic: Physics-Section A
Item No: 5
Question ID: 15477154525

Question Type:

MCQ




1€35550°% 200 g HOASH & (16338 90 T Y 2.8 20BE & HeyoS
TFDOLD 2.8 SFed ST e . o 53384075 15 &
S0 20BE PO DTHPRE TP3Erd8 Forcde |Hasredom® )ad
EDODY S8,

Question:
-
—p =m ==

- - - - _Fod

A: 45 m

B: 00 m

C: 125 m

D: 25 m

Topic: Physics-Section A

Item No: 6

Question ID: 15477154526

Question Type: | MCQ

Boc 2,385 DS EFered HAOSTT N EFaT0TNS. HAASTSSM —1
250 SN OG5 HAOITEED =2 & 2572 DO N 2,8 Fesn

Question: o0 HOTFE. BAATESIDN 1 HOAW 2 & HDOAED 45
SO0 65, O HA TOT) Q. ONB 7 VeV km (25
a5 0ad0 Re - 6400 ky o000 g 2imad N 10 m/s? & h<<Re)

A 1200 km

B: 1600 km

C: 3200 kin

D: 4800 km

Topic: Physics-Section A

Item No: 7

Question ID: 15477154527

Question Type: | MCQ




rd0 1m Yo AES VOB 2.8 Qs & TN GFarot.
AFH0 (B0 o0& De3D &N0B0 15 m o8 690310, ATH0 FeseT
B0 0D 5 m DY a8 SO0 ILD. 8 SHTFASEIN G V3 D
50 Q0 5 % 10° N 2e7Q) DA, SO0 0D ST Ve3
S (7TPIBED DI0 Py =1.01 x 10° Pa, D3 0S¢ p,

= 1000 kg/m® 00050 065 565 1890 g= 10 m/s?)

Question: 5105 N
O
JeiZomf
15 m A
e e
:—:_:_ :_: e

A: 11.6 m/s

B: 10.8 m/s

C: 17.8 m/s

D: 144 m's

Topic: Physics-Section A

Item No: 8

Question ID: 15477154528

Question Type: | MCQ

2.8 o7e56T 14 g 35230 27°C S¢S 58 HAL . ee0eY rms oSG

QUESION: | 58305y PO @ S5O SADOITDO (R = .32 Tmol t k1)
A 222917

B: 56161

C: 9360 J

D: 13.104 17

Topic: Physics-Section A

Item No: 9

Question ID: 15477154529

Question Type: | MCQ

Question:

QEE VT 0EO K 69dd), DEP0 O BT©50 QS0 Hed¥ed
£ 5070 HOES FTE0H DSTS0 SHOARN sDOESN 4 d. Hode

3055 STEI0 St BT HOEE 0655 TOISYE § Jnes:

(Co = £5038 D05 HAE T &d §0eb)




A I+ K

) 3KC,
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34K

C: 4KC,

) K
D: 44+ K
Topic: Physics-Section A
Item No: 10
Question ID: 154771545210
Question Type: | MCQ

2.8 DEBE DN T (650 E = (8m/e) Vim & 1 m &7c3e)d) B
DRAPOHE HEEE 3¢5 HEIOE TAPDOED SO5TE TR (2L
m= O TS [LIeI3T°R DO & = DO TS SF0 ). 28 DO TR

B 15065 8 Ao HeEe 2 2mis SAES 1DFF0D0H. DOTR
350 DO 2ICDNEITY D98I NGO 0D DLIN0 o

Question: 52500
1m
FHFFFF++++++ iﬁ
Qmhs T 7 _j:}_:_' 3
A tan” 1(4)
tan ! (2)
s
C: tan (—)
3
D: tan ! (3)
Topic: Physics-Section A
Item No: 11
Question ID: 154771545211
Question Type: | MCQ




&2 18065 DO Qe33e0) 0ed 520530 :

DSBeD I: AT 800 93 DEOS €3k TPV DTS 27mren
D orrtD. 83 21O DSF0SSOT . & HOTIITe3N0 TN
DTS G0 5 Q.

T | 506 1 Bot DB 280G 3R £ HIFOSIOM 28
DR SOHONOE EOFTE. 3R HOOIM 2R € HQ@ TR oad Dendd
TB0E) DS 3:2.
2 DIBETO Sears 1§00 0D NEOS HOTS Baran ) Fod:

A: BOAFT S8 100N o3 IT OB cdad

B: BOGF 86 100N QeI IT OB cda) 5%

C: OB T OBE DG II DDA 528D

D: DBEI T DDA 50 VIS IT DTAD

Topic: Physics-Section A

Item No: 12

Question ID: | 154771545212

Question Type: | MCQ

IDETO 10 A 690 1€38923°5°8 D o .8 D80 @aD)06h 3 (650
0.5 T. HE0S BFDODNED HODAIA. CD 270 &0 eoCH) 0
200 EDFI0G. BC = CD=BD =5 cm. [ I

Question: Y C
0O : Seml \S cm
o —
— A B 5em D E
A 0.126 N
B: 0.312N
C: 0216 N
D: 0245 N
Topic: Physics-Section A
Item No: 13
Question ID: 154771545213
Question Type: | MCQ




(D6TT0 o)) 2.8 99 TS %) TO(L0 9G @006 § (650 B;.

Question: DN DTS R SO0 HOD) TFERrFTTRS 3 Ot® aVielolo)
0D 06 T (65 83|9¢5. 5 0 ES. By @ONB B/ By ¢ Dens

A: 0:4

B: 12: 5

C: B

D: 53

Topic: Physics-Section A

Item No: 14

Question ID: 154771545214

Question Type: | MCQ

oo E 352.30 8 KV DO 7760 452300 160 V o) 2.5 €7
o520 80 KW S %0 630010, @358 167 57830 05590 A8

QUESION: | 5 o3 20050 DFOL H8 SEFOD SIFOHEOE (ZFBNE SO
ea SSe0hoeS S

A: 800 O 1.06 Q

B: 10 Q B 500 @

C: 800 Q JNOC 032 Q

D: 1.06 Q 2OAW 500 Q

Topic: Physics-Section A

Iltem No: 15

Question ID: 154771545215

Question Type: | MCQ

QPS50 OO SO BT L0 36 em? aGNG 72x10°N©

Question: OO 27D 20 AL SPONBNBE |HDTBTANOE. Zndo
TR0 @90 DE0T) DEBIF0 TZ0E) 45 eod) T,

A: 25.92 x 10 W/em?

B: 8.64 x 107 W/em?”

C: 6.0 W/em?

D: 0.06 W/em?®

Topic: Physics-Section A

Item No: 16

Question ID:  |154771545216

Question Type: | MCQ




2.8 O5dE06S 2,8 $680 (65 BoozrEd) Tng) 48 1.25/m™L. §exdo
Question: 518250509 o250 1.5 BT S|Ee a5 Ged0en oGO 20 cm
' SOG40 cm 0N THEY (HEFO CITPSE0 TEL 182563 Meato
oD B8).0t0W
A 1.0
9
B: =
7
C: é
2
4
D: —
3
Topic: Physics-Section A
Item No: 17

Question ID: 154771545217

Question Type: | MCQ

2,8 S0 TBNEL HQ (DDAFRE 20D (5) DO DA BeW $8 598y
BOC §FEFS © TGN SENTT Sor &80 Ded HEHI0 TOTOW.

Queston: | 50k H0SET DEABE 00 FOSB JOFTE KOR Sane
QNS

A 0.

B | o

C 243

D 3.2

Topic: Physics-Section A

Item No: 18

Question ID: 154771545218

Question Type: | MCQ

2.5 BATIr 7638 Hd0 15 Aares evden HO3raos % BéW

Question:
DD TODOA. e85 TINE), e Des5era50
A: 5 Qalalre)
B: 7.5 Qalaren
C: 15 Qalaren
D: 30 fdalalen
Topic: Physics-Section A

Iltem No: 19




Question ID:

154771545219

Question Type:

MCQ

10T 630 SPEE0 P=100 6)d) &8 n.p .0 (el 0D GG &S
D06y DO LEDEY 91O, SPF0 TR0EY e9YE HE
35255,

Question: )
|C| gl[}kﬂ i
|| fm o
1mlF =
T
A: 0.1V
B: 1.0V
C: 10V
D: 100V
Topic: Physics-Section A
Item No: 20
Question ID: 154771545220
Question Type: | MCQ

28 FM [arTre) [Dar0ed G30E) ¢ 30N H03ed arddzadddfedn 20

Question: 1111 £ B, DSOS DXL 10, (HrB0 TE0E), HE3 Scsen).
A: 220 kHz

B: 180 kHz

C: 360 kHz

D: 440 kHz

Topic: Physics-Section B

Item No: 21

Question ID: 154771545221

Question Type:

Numeric Answer

Question:

28 €235¢503) S0 DENYT 28 208 a3 19.6 ms™! &
RRGDEBAE. 208 6 ENE) ST L6 25 B8N0, 20ed 25D

00 TEHOR e (%)m NS k Deds (=98

m/'s® TFEOG)




Topic: Physics-Section B

Item No: 22

Question ID: 154771545222

Question Type: | Numeric Answer

(G3a550°R ol |, |"1—i‘| kg/m s0OCRN &7¢8e) L (a0 ) $ycd),
I SR

Question: 1 DE& 5G Ty DSBS D0 (35073 o380 £ m. o «

ALY (R x @A A DSG D0& Ardaiw)
Topic: Physics-Section B
Item No: 23

Question ID: 154771545223

Question Type: | Numeric Answer

169095077 2 kg €0 110 2.8 ¢99C8030 0636 (DB IFOL0 4 mm?
o3)ed), 2.8 30(238 e0s08 120G, 6366 0.5 m. aPEATP QAN oHed),
SITTE HHO (DN . SN SYTTE B0 e0RIS 5 m/s

QUESON: | < B2) SFOB0G. SyB0 e SRV 515 SO BST
DEHed x 1072, (G000 the80 101 Nim? H0Cs» g=10 m/s?
TR0

Topic: Physics-Section B

Item No: 24

Question ID: 154771545224

Question Type: | Numeric Answer

2,8 €58L1165 059G 2.8 P56 TBNE), WP LB0(¢h DO/ ey 8.
Question: 2C30 SO AN TEEDODINCR TRNNA 150 I SO0 F'0T

€50 DOITEI0 1
Topic: Physics-Section B
Item No: 25

Question ID: 154771545225

Question Type: | Numeric Answer

165095077 4 kg €0 o)) 00 x- @5 £0 Bo2E 0NN st )
Question: (€338 U =4(1 - cosdx) I. §220 D) BT (sin 6 =) SOIODE [%J

5. 0N k DeEned ;

Topic: Physics-Section B

Item No: 26




Question ID:

154771545226

Question Type:

Numeric Answer

DE 220 V. 100 W, o385 2.8 D¢ 235 220 V. 60 W. BEX o9cd)

Question: SBBE 25 & (3 S EenNBS S HOoTZTrN08 220 V. 4830
HOT 100 W 5 )) 53 5 W Dewed

Topic: Physics-Section B

Item No: 27

Question ID: 154771545227

Question Type:

Numeric Answer

2D SOOHOY DI S B BOLOR 6 V ergedd o) O 19e7T0

A
el R —
Question: 2 g
§2 0 §4u 20
II A

6| iy 20}
Topic: Physics-Section B
Item No: 28
Question ID: 154771545228

Question Type:

Numeric Answer

2,8 036 '0' A JFT® 5 Qa5 200 em Y3 2.5 2JETTS 3G 80
SD0E 100 em © AFS0E $HOTTH. 8360 38180 D) 2 em/s SAS
B350 TGN DE0H. 00N 10 s © ST 83802 SrBSm

CI11.
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S
0 j
Topic: Physics-Section B
Item No: 29
Question ID: 154771545229

Question Type:

Numeric Answer

Question:

2.8 EFSES 6 (DTITHOS, (93802 SRS (1) S50 5SS (1)
€ g5 05350 DO TOD YR 93 ) JEID v u'=225. @)
SFTPO em ©F FON E&r% 772550550

CI11.




Topic:

Physics-Section B

Iltem No:

30

Question ID:

154771545230

Question Type:

Numeric Answer

2.8 8 O NS £ 5 18eT) S0
DTS 100 FOTOE H) 00 DHOD. 1 sec DYOEL 699)

Question: HBATE0 G 520 DBoed 0.5s T FOTH. TODS 10 cm &7¢8e)
TB0EY E 565 5030 1 mm @000 g OB0E) 16865 5000 x %. X QDEN6d

Topic: Chemistry-Section A

Item No: 31

Question ID: 154771545231

Question Type: | MCQ

180 TOH DIBEIEN QeI FDTOW. 2.8 TR DB)edadnd A e
NG TOLSTFAR 528930 R Ml AroTh.

DB )5BEW A : DI ©30)ETS e3arehai0 eSO 2.8 B35S B (out
of phase) @e33°¢5.50.

Aueston 5286950 R : 98 DN HA 5@5?{}:}1};’&%@(’55 (orientation / direction)
HANNIOTN @38 1ETH) 9D DE IR0,
2 038800 eSO, 1508 2050064 8T 235572000
D) Fod.
A: A DO R 0 TOT 8D «0OC A O30E 8T edEd R.
B: A OGN R &0 TOT 8 55 A Q308 Q8D aeddiea R 5°C.
C: A QBTHAR 550 R QO 57,
D: A QBCHAG 5N 55 R 8 DAA.
Topic: Chemistry-Section A
Item No: 32
Question ID: 154771545232
Question Type: | MCQ

Question: ST 526331 T HOTD 1 D ?
A: Na>Mg>Be>S81>P
B: P>Si>Be>Mg>Na
C: S1>P>Be>Na>Mg
D: Be>Na>Mg=>=51>P




Topic:

Chemistry-Section A

Iltem No: 33
Question ID: 154771545233
Question Type: | MCQ

18065 BOD QeIBEIEN Qed JATFOW. 2.8 TR DB)edadd A TPed
DO BOLEITAR SPEE03M R el AFOTTD.

DBHSIW A : 2.5 ' es5)B § ANEBAW, DB)1A 50 V&S
K0T |G530BS” A8 1A, oedsn.

Aueston SPBESM R 1 S0VBES 0T (0B’ DOESTD eofESw e,
AGS Q0D 2NETEBIE0 Fad) )BT SOLNOA.
D 3Beae escrSorr, (500 VWO DO DO 230720
) Fod.
A A DO R e BOGT 8GN 008G A G308 Q8D edBE R.
B: A DO R e BOT D8 55 A O30E) Q80D adde R 3°C.
C: A QOTDHAD 50 R OO 2.
D: A QOTDHAA 5N 5°0 R A8 DAD.
Topic: Chemistry-Section A
Item No: 34
Question ID: | 154771545234
Question Type: | MCQ

Question: 5°5) HOBS’ 56 2@ DA 1DECHES DB (Sosraaren O ?
A: CaCO; s00C50 MgCO;

B Ca(OH), =200 Mg(OH),

C: CaCO; «00CN Mg(OH),

D Ca(OH), «00GC5) MgCO,

Topic: Chemistry-Section A

Item No: 35

Question ID: | 154771545235

Question Type: | MCQ




DSBER-I : OO SHOCH A NAHOE FeH SeTFAY DedTed
S (aircraft plates) SasrHeS EO3rA .

DASBLII : TN ACHO @OTS ek Ee2-8rtadd HDEZOM (integrity)

QUS| a0 terEo SHTITAT .
2 08800 eSO, 1508 20504 DOTDA 23072000
D) Fod.

A o0 G-I DO I edGER-IT DOLET OTDAI.

B: a)odGEa-I DB I edBER-TT DOCET OO0 Soa)).

C: DSBE-T HOTDHE 5% DSBEI-TT HOTDIHE T°ER.

D: DSBE-T HOTDE 570 T DSGEI-TT HOTDIE.

Topic: Chemistry-Section A

Item No: 36

Question ID: 154771545236

Question Type: | MCQ

Question: HTBrRO STH & BO O YER BBETOA DEIBETDOD :

A PCl;. SO, 22000 $,CL,

B PCl;. SO, 200G $,CL,

C: PCl;. SO, 20005 Cl,

D PCl;. SO, 20005 Cl,

Topic: Chemistry-Section A

Item No: 37

Question ID: 154771545237

Question Type: | MCQ

Question: T HNO; , e9T3PRS & 335506 S0t :
A: HI . NO; s08 050 HO

B HIO, . N20 a0 00 Hy0

C: HIO; . NO; s030 030 Hy0

D HIO; N20 00050 H0

Topic: Chemistry-Section A

Item No: 38

Question ID: 154771545238

Question Type: | MCQ




1B0A 73 D DO T (isoclectronic) DL 5°Q) 230€) E ?

Question:
(DGATED DOPEEN:. Sm. 62: Er., 68; Yb, 70: Lu. 71: Eu, 63; Tb, 65; Tm, 69)
A: Sm?T OG0 Er¥T
B: Yb?™ o080 Lu’™
C: Fu?’ s0n6a TbH
D: Tb®™ 06050 Tm*
Topic: Chemistry-Section A
Item No: 39
Question ID: 154771545239
Question Type: | MCQ

180 BOt DG QI FDFOW. 2.8 TR AB)edadd A e
DO BOITAR SPBEDM R el AFOTTD.

DBISSW A HTIONTE @oFITITEeD TFES 65 e:D HvZ oS
2380a020C8aY). (not performed)

Question:
SS90 R : 375 OF e3:00 3855600 SO TEHS & 1¢e,
D 0800 eGS0, 1508 20500 DO 23072000
Do) Fod.
A: A DO R e BOT 8 «08C0 A G30E} OGN adea R,
B: A OGN R &0 TOT 8 55 A Q308 Q8D aeddiea R 5°C.
C: A QOGHAR 550 R Q0D 57,
D: A QBTHAG 5N 55 R 8 AA.
Topic: Chemistry-Section A
Item No: 40
Question ID: | 154771545240
Question Type: | MCQ




) EE-1 Q) erd)Ee- 11 & 2265 TS,

2rde 1(NoFR W) 2rDe- 11 (Ho¥BES )
A Ni(CO), [ o3
T: v s
Question: [N (0] I sp™d-
C. [CO (CN)g[* 1. d%sp’
D_[CoFI- V. dsp?
80& DT OB DO 22D ) Fod.
A: A-TV, B1, C-I, D-T1
B: A-I. B-IV. C-III. D-II
C: A-I, BV, C-I, D-IT
D: A-TV, B-I, C-I, DT
Topic: Chemistry-Section A
Item No: 41
Question ID: | 154771545241
Question Type: | MCQ

PO DTS NETBS BRLESRS 000D B e353233 en

Question: TFEIEESNES 2.8 S 2,583 98706 BB @955 O
B8R, D0 o'

A: N, D907 s3exés BAA.

B: TS 8B o0 e@VSTAD.

C: ae3 058 585 GBI D oY 235,

D: Q6 EAITPeTE L5U5 OO eoehsHE &P |1H 296900800,

Topic: Chemistry-Section A

Item No: 42

Question ID: 154771545242

Question Type: | MCQ
1B0A 58565 DB (DTS 1BAT225530 D 2

Question:

OH ma a0

(2) HBr

—




TR

O
\Z:
=

Topic: Chemistry-Section A

Item No: 43

Question ID: 154771545243

Question Type: | MCQ

TN 58550 HD00O0D B0A a3 BHTrzdereh B 1EeDsneS
2008 0%,

A p-ﬁ@g){% (p-xylene)

B. |5 3030283
Question: & 30?&6&@5

D. 3 B0ED

E. B3040

Bod )T OB DO 2320 ) Fod.
A: C<D<E<A<B
B: D<B<E<A<C
C: D<C<E<A<B
D: C<D<E<B<A
Topic: Chemistry-Section A
Item No: 44

Question ID: 154771545244

Question Type: | MCQ




OaNIFAAN I A e HI & IATAD 208 3FEE) 0o $fiddedn AN
2DI00. PR Zn &S SHTDONT DaPFd50 B A ad)od. A
SNBAN B e th8os0dk.

Question: o
me¢s. HI A /n, A . B
A
I
nli

A A= .B=
i) ﬁﬁ
C: @/k @/l\
- CF -0
Topic: Chemistry-Section A
Iltem No: 45
Question ID: 154771545245

Question Type:

MCQ

180 TOH DIBEIEN QeI FDTOW. 2.8 TR DB)edadnd A e
DB BOLSTAR SPH9D R el (PO TTD.

B85350 A : @0DDT & SHAS OV @7, Doer HOCW TS
@S &5 3T°) O AV0A.

Question:

52569030 R : DT sl Fe30a3m 2,8 23 T0ed €500 Q| Fe30a30.

) DB earrSorr, (808 RO ITON0E D8I 2araed

) Fod.
A: A B0 R e BOET cd8T305e) «08C50 A 308} O8G0 Qi R.
B: A 080 R &0 B0 2806 550 A G3NE) 00D adetiea R 3°CN.
C: A DB ) R 08T 5.
D: A DBTDAE 50 5 R ETAA.
Topic: Chemistry-Section A




Item No: 46
Question ID: 154771545246
Question Type: | MCQ

2E)Er- 1 &) ed)es- 11 66 23¢hD TS,

rder-11
2De-1(7ON0 3
. : ( g2 50)
L &059¢
A TCH,— r|: = CH-CH, %5
cl - LBV
is ) I
B. N—(CHZ)é—N—C—(CH2)4—C I SFen
i
Question:
cl,l
C. +CH,-CH IIL )ergfadd
i3
O-H O-H
D CH, CH IV. $8 a8
' 2 T35
n
80& DT DO DO 220D ) Fod.
A: A-IIL, B-III, C-IV, D-I
B: A-IIL B-II. C-IV, D-1
C: A-IIL B-I. C-TV, D-II
D: A-I B-IIL C-IV, D-II
Topic: Chemistry-Section A
Iltem No: 47
Question ID: 154771545247
Question Type: | MCQ




SDOCV-DOBD 50 DODOOOD 150 DO QedBeaen) Rod 520G

DS5B2a-1: DOB T30E), 18C5FRe )y AEEES (inhibitor) e
(block) §097 63168 SP(EHa) OB TIN5 et TN,

Question: DB :DFBEID OB & 2O S FarSoS 20
BTN,
2 03800 eSO, 1506 DD5PO06G 8T 2307200
o) Fodk.

A: 2)odBE-I OO DedBe-II DOLET DOTI.

B: 2)odBE-I DB DedBE-II DOLET dOTIL) 5.

C: 2)odBE-I DB TR DIGEI-IT HETDOE B

D: 2)odBE-I DB TN T 2)aIBE-IT BT

Topic: Chemistry-Section A

Item No: 48

Question ID: | 154771545248

Question Type:

MCQ

180 BOt DG QI FDFOW. 2.8 TR AB)edadd A e
DO DO SPEE03M R el AFOTTD.

DBISSW A : DNV 7S (BT S T, 8 AN (Frs ro.

Question: SPEEDIM R : HENTI 18 TSP TS, 650es 2P fed TPa HOED
DABODD HENIR DO BS 78 AT NEINT HA TAND.
D 0800 eGS0, 1508 20500 DO 23072000
D) Fod.
A: A 00050 R e DOT d8T30de) «00C50 A G308 8T Deddea R.
B: A OGN R &0 TOT 8 55 A Q308 Q8D aeddiea R 5°C.
C: A QOGHAR 550 R Q0D 57,
D: A Q80D 5N A R ODAA.
Topic: Chemistry-Section A
Item No: 49
Question ID: | 154771545249

Question Type:

MCQ




180A 907 @aDENXNET’R) A SOOI B © QT T aridzeren
Eoofedods:
Question: HCN A
H10™
HFE—
(1) NaBH4
(i) HI'P
A: A=C?Hl403* E:C5H14
C: 4"1'1.2C;.'I_I]_ZI:JEPh B=C5Hl4
Topic: Chemistry-Section A
Item No: 50
Question ID: 154771545250
Question Type: | MCQ

(1) I,/ NaHCO:
(2) Pyridine, A ~

OH
O/T

Question:
2 D556 S 1T (BO5T239 8550 E) ?
A: OQZD
-
B: (I\ CO,H
1
D: @:o
Topic: Chemistry-Section B
Item No: 51
Question ID: 154771545251

Question Type:

Numeric Answer

Question:

2L  0.2M H,S0, . 2L 0.1M NaOH |i°e906 158250806, (@0
DSBS (805230350500 Na,S0, TPehes 0OT;rerd (millimolar).
(NS FJT085W)




Topic:

Chemistry-Section B

Item No:

52

Question ID:

154771545252

Question Type:

Numeric Answer

eT0 M. 4.0 x 1078 em @90TNEFG) (e fee 22OE0S )¢3888e0

Question: ToH0A. &) HBSTED 2rE0 g/mol. (S0 SFT0ESW)
(&HTBOO0TIOR: NA = 6.02 x 1023 mol™L, S'r0 M a0(¢5¢5 = 9.03g em™)

Topic: Chemistry-Section B

Item No: 53

Question ID: | 154771545253

Question Type:

Numeric Answer

H-08eE06)) P00 D O[T HB0HZE50 3.3 %10 m
0SB, Z VBS XY DTS FR0NED) 38, DEIren) od
DEFANOO (escape) TOCNEE THOVS EAO ¥88  Bew
GOEN0A. (NS T 055W)

Question:
[958 0): h=6.626 x 10724 T s
DO\ TS (8963:0°3=19.1 x 107! kg]
Topic: Chemistry-Section B
Item No: 54
Question ID: | 154771545254

Question Type:

Numeric Answer

F0B0 DEISW 0.8 atm KO, A DO B DEPTNS), 700
S[F03 2.8 8987 1896 |TTSR0S HNTPRBS D) O. DTG50 A

QUESHON: | S0 artiasn P00 (DHRE 0.5 OO (SSESVEST SeS 2@t
0.2. E (36550 A TENE) 2R DS atm. (G508 SPTT0ESW)

Topic: Chemistry-Section B

Item No: 55

Question ID: 154771545255

Question Type:

Numeric Answer




600k 5%, 2 TS O NO D 1 IS 0,68 ¥EOr.

2NO(g) + 0, (g) = 2NO,(g)

Question:
0SB0 D0 1 atm 5, 2 DGO 388 NeNTPRBE THEV0ENOE.
5856063 DBALI0 TPROTIP DVTFRES SG 0.6 INS @388 &) 6.
285 DeDTT VB VTOEW (G508 SrTroE5m)

Topic: Chemistry-Section B

Iltem No: 56

Question ID: 154771545256

Question Type:

Numeric Answer

SR DRBES’, 0.125g 2,8 EB ) DIFR), DINEIS0 TAOT,
KOH ({5690 08 280 K o080 759 mm He © 659G, 22.78 mL © JEBS
PR VEOOTTR. BDIN EB) Dby TSRS Teb0

(6510 SJrTro8aS0)
Question:
(‘HJ}SEJC?BF{)&:
(a) 280K S5& De3 272850 14.2 mm He <HOGD
(b) R =0.082 L atm K™! mol™!)
Topic: Chemistry-Section B
Item No: 57
Question ID: | 154771545257

Question Type:

Numeric Answer

KIO, 7063 2030 e 18650 05508 3RS D036 0,60 e

Question:
T 238 185690 TOH. K10, ' T esd 880 Hows ™ SC0 .
Topic: Chemistry-Section B
Item No: 58
Question ID: | 154771545258

Question Type:

Numeric Answer




2.8 9880, Ink vs % T (50C Qa9 520B30.
258 S8 $5 cal mol ™! &0 {23535,

(A0S R =2 cal K1 mol 'l

20
Question: Ink
10
f | f f {
0.0 | 2 3 4 5
Tl. (K"H—
Topic: Chemistry-Section B
Item No: 59
Question ID: 154771545259

Question Type:

Numeric Answer

1808 763, |Franod R @055 A0 ISFDD B0 B S
(curves) OOLE ;

{a) [13)]

X 2%
log = bog—

Question:
{c) log dy P
Iugi le;i
P — 2 log p —*
Topic: Chemistry-Section B
Item No: 60
Question ID: 154771545260




Question Type:

Numeric Answer

1Sod ¢3S ?g@ LE:):&)OSJ“@ (state properties) ;OO :

es0eb0% 38 (U)

Question: oD BATEIO (V)
€920 (q)
DoEd) (H)
Topic: Mathematics-Section A
Item No: 61
Question ID: 154771545261
Question Type: | MCQ

S=[xe[—6; 3] — {2, 2};w39} 0BG

‘x| -2
Question:
T= {xE Z:x2 7 x| +9 <0} @DF0A. eych SNT 'R Srersee
c0S:
A: 7
B: 5
C: 4
D: 3
Topic: Mathematics-Section A
Item No: 62
Question ID: 154771545262
Question Type: | MCQ

Question:

2 —f2x+4f6=0 HaNEBed oFeren o, p DOV 2 +ax+ b=

o

0 HMEBED Soreren —5 +1 é+l i T0A. @)1,

Z—(a+b-2)x+(a+b+2)=0dDES Soreren ;

35T DOSTeN

ST OO BOLAT 206D DOWEEND

ST SNOCSN BOLT G0 DOLEN

OO0 @ >

SPRTPEN) SDOCRL 2,8¢3 ST A S oY

Topic:

Mathematics-Section A




Item No: 63
Question ID: 154771545263
Question Type: | MCQ

A 308050 B & DO SEATT 3x3 B3 SB050 S(E Ararsd S @Een

Question: DT, 806 e3¢5 DO Q20 52 ?
A: A? B 2.8 @radsd S esd

B: AB-BA 2.8 Sra1ed o7 238

C: B - A° 2,8 JIE ok v 3%

D: AB+BA 2,8 J|E raed o3| ed¥

Topic: Mathematics-Section A

Item No: 64

Question ID: | 154771545264

Question Type: | MCQ

F(1)=3,f-2) =L 00N f(3) =4 @TDFET f(x) =ax’ + bx + ¢

Question:
@NTOR. F(0)+f (1) +f(-2)+f(3) = 14 @ONS. .=
A: -4
B: E
2
C: &9
2
D: 4
Topic: Mathematics-Section A
Item No: 65
Question ID: 154771545265

Question Type:

MCQ

[ R R (DDHADO fx)= lim = (@m0 —x*" sin (x-1) = DY sDe80.

Question: n—00 14 p2n+l _ y2n
20 Q) 1 SR Q) 0e38 @D N0

A: R-{1}

B: R-{-1,1}

C: E-{1}

D: E-{0}

Topic: Mathematics-Section A

Iltem No:

66




Question ID:

154771545266

Question Type:

MCQ

Question: IDDCNO0 f(x) = xe¥(1-Y) y e R 0RO
i
A: . 1] & eofsre0 ToHW.
o
i
B: % 2] & 20T 20 TOLV.
C: —1;—5] & o830 TOND.
2
D: —§= %] & 03T E0 TOLHD.
Topic: Mathematics-Section A
Item No: 67
Question ID: 154771545267
Question Type: | MCQ

[0, =] 0506y 19TRO f (x) = tan™! (sin x — cos x) TINEL DG (1O

Question: -
0BG DG EX 0TI L0 SN0 :
A: 0
1 T
B: B | |
[ﬁ] 4
C: cos™! T
N3 4
D s
’ 12
Topic: Mathematics-Section A
Item No: 68
Question ID: 154771545268
Question Type: | MCQ

X(£) = 2+/2 cost sin2r SOOI y(r)=2+2sinzfsin 2, 1€ (ra, %) eNFod.

Question: » i d_-"]‘
o)) t== G & =
4 d’y
di
A: iﬁ
3
Z
B: =
3




C: !

3
D: 2

"
Topic: Mathematics-Section A
Item No: 69
Question ID: 154771545269
Question Type: | MCQ

;ﬁ'djj n =15233!"'@—Bm§-

1,(x)=]

Question:

0 2

(r + S)

A: 501, -9, =xI
B: 504, -1, — xi!
C: S0, =91, =1
D: 501, 117, =1
Topic: Mathematics-Section A
Iltem No: 70
Question ID: 154771545270
Question Type: | MCQ

Question: y=10% DDy =log, (x+e?). x=log52cl’l}ﬁoﬁljx=lngz[g]&'}[§§mt)5
uestion: y

@) (DT BTOL0 -
A 2+e—log2
B: 1+e—log.2
C: e—log.2
D: 1+1log.2
Topic: Mathematics-Section A
Item No: 71
Question ID: 154771545271
Question Type: | MCQ

dy, 1 _1)%
sss pdsswo ¥ 1, [-‘H} x>1 TNE FES SEO0y =
X — x

Question:

y(x). 200D [2\[2 DO F0BNTOR. @I 7 ¥(8) =
A: 11 + 6 log,3




B: 19

12 -2 log.3
D: 19 -6 log.3
Topic: Mathematics-Section A
Item No: 72
Question ID: 154771545272
Question Type: | MCQ
Question: 206NN (0, 2) SDBCL (0. -2) @ MO A T Soeno20
' TB0E) e055e23 oSG0 |

A: Exy@+(x3—y2+4}:ﬂ

d

dy 5
B: 2xy =+ (x2 4y —4)=0

e - 3=4)

C: 2xy@+[yl—x2+4}:c|

dx

dy a2 o
D: 2y ——— Xt — -+ 4y=10

T L R

Topic: Mathematics-Section A
Item No: 73

Question ID: 154771545273

Question Type: | MCQ

X4 y? — 4x+3 =090 eI A DO B BOH D0NHE o3Q
Question: QD IEIBWED DT 0N O (0. 0) X EeNTADNTOR. €95 )¢, OAB

8322 [T50

A: ?LE’

2
B: ?LE’

4
c. 3
o, 8
Topic: Mathematics-Section A
Iltem No: 74

Question ID: 154771545274

Question Type: | MCQ




SBDT SN0 Hzﬁ_»;;jzl DO (245, - 245) HOTT
FE0GSNTOR. H TIE) 0°8), O x-QETNE08 ara)m ~H8an

Question: Q0DEBTVY H a8 MHOGE® s DO 2.8 QTIO0irR) inrdh. H
CREY P00 &P 7)) T IOAN E)O0D0 &7Ced) e BEV,
QI H By &8)0(09¢h ¢ 0008, 8060 e3¢5 & HotHy
DTROAN0 ) GOV ?

A: (2@; 3&)

B: ( 3, 6D )

C: (‘\E '\‘%)

D: (EJ_ GJ_)

Topic: Mathematics-Section A

Iltem No: 75

Question ID: | 154771545275

Question Type: | MCQ
-‘;1:}':3:2;3 SO0k XH6_yHE_z128 Fgyey 6O asTen O

Question: P 5030 &2 BO B0 EOAAN06. @)t 806 othsyerds D&
P 2 &0 7

A: (0,-2,-2)

B: (—5,0,-1)

C: e

D: (0. 4. 5)

Topic: Mathematics-Section A

Iltem No: 76

Question ID: 154771545276

Question Type: | MCQ

QP A EEN -2, 1, -3 SDOCSL -1, 2, 2 T €6 DO Derdy

QOSSO SNBCW (2. 2. -2) 2080 EEAN 0 P. P AETOE

Question: 05" A, B, C 2)0¢069)® o5& a ., B . v ¢ DOCESED (intercepts)
DR0NT0R. 22508022 OABC TB0EL e 0320 V. %368 O
S0, DO p=a+p+y0NS, (V.p)=

A: (48.-13)

B: (24.-13)

C (48. 11)




D: (24.-5)

Topic: Mathematics-Section A
Item No: 77

Question ID: 154771545277
Question Type: | MCQ

il = a(lngrb_}f—(w}+3£ BCL ¥ =(lﬂgl,h).r? +27+ 2a(|og£,b}f:,{b >1) OO

Question: 20658 §90 ©ANT 0 eadher ed)) acR © D& § eocdSodk.
@95 )08, S =
A: [—oo, = i‘]
3
B: @
C: [—i D]
3
D: (E,:ﬂ)
7
Topic: Mathematics-Section A
Item No: 78
Question ID: 154771545278
Question Type: | MCQ

AB = 16 OOFEDT 2.8 § 823 0s00e8E 2rthy 0AB |B2hersdos

Question: GO0, AB 0G5 20Ny CIT™ 2PAO=,PBO=15" OGN £PCO=45"
odDzer, 0 DOHY IB 28 e ANV020 OP & AOBEFS. (0P =
32
A: E ('\IE— 1)
32
B: E (2— 15)
16
C: E ("JG’— 1)
D: g (2— 15)
3
Topic: Mathematics-Section A
Item No: 79
Question ID: 154771545279
Question Type: | MCQ




P(B|A):E . P(A |H}=l B P4NB)=1 edDge® A SOOI B €D
5 7 9

DO NENODT oA,
Question: (SI} P{A’u H) :%
(S2) P(A'L H'}:é S0ETT :
A: (51) c0OC (S2) DO Q2Few.
B: (S1) DO (S2) DO ev2dl en.
C: (S1) 57533 Q230.
D: (S2) 3753 V2.
Topic: Mathematics-Section A
Item No: 80

Question ID: 154771545280

Question Type: | MCQ

p: U307 Hofiddo Doered.
q:630F 8 reoS Bew.

r: 28 2.8 adHIG0.

Question:
s : QA0 2.8 40a°80.
€9 2680, DEEIS, "BTDT S (M0 €651 83680 Sr|ehaD Dohedo
DOEFED OO 2O 2.8 @OIB0 B FQaTE0" & wer
955G TIITN)) 72

A: ((~q)Avs)=p

B: (qa(rvs)=p

C: p=>(qA(rvs))

D: p=((~q)A(rvs))

Topic: Mathematics-Section B

Iltem No: 81

Question ID: 154771545281

Question Type: | Numeric Answer




4 6

[% 3 ﬁrj (1-3pr? SO [I_E_Qi B> 0, VBT K068
6 2~

DO MHITEN DO e0XFISQ D05e3 Sareh HreXed

Question:
‘ - 2d
BT O 0 HF0H. S o¥FISR HToSE0 d wons, 5ﬂ—ﬁ—2
Topic: Mathematics-Section B
Item No: 82
Question ID: 154771545282

Question Type:

Numeric Answer

2.8 S$SHBS b 2rendd DO g erOFenTe) K. SEHBS'R 3 2rendd

Question: SO 2 2rOEOD ) Tad DG DOWE 168 @OV, b+3 g=
Topic: Mathematics-Section B

Item No: 83

Question ID: 154771545283

Question Type:

Numeric Answer

ﬁ_§ _1 BBH9B0 DD P 0BT Q DO 5 OB Tmen

-
-

Question: R (V2. 242-2) D00 5& EengroHcFod. 2206 (D57 @980 D &
3 2
O8N o) S oS, SP?+5Q2=
Topic: Mathematics-Section B
Item No: 84
Question ID: 154771545284

Question Type:

Numeric Answer

m 20 OB PR, 1120 PCr ..+ 9PCH) CUCC,+ .. P ) =2

Question:

mesoN®d, n+m=
Topic: Mathematics-Section B
Item No: 85
Question ID: 154771545285

Question Type:

Numeric Answer

Question:

2y? = —x DTHDOOITFRE (2. 0) DoY) DOG 1; HBAW 1 BOH
O )5Ben Hardd. 1 DO h BPEW (x—5)? +y? =1 5 T8 Sz
AIBIBDOCNS, 17r = .




Topic:

Mathematics-Section B

Iltem No: 86

Question ID: 154771545286

Question Type: | Numeric Answer

Question: mBJ e, & + = + i + a0 Fook 10240 _ 5.y @900&, m-n=
Topic: Mathematics-Section B

Item No: 87

Question ID: 154771545287

Question Type:

Numeric Answer

T T T 3An=n
S=[-m,2)—{—= —Z= - “leoc80&. et
[ Eﬂz) { 25 4! 4:4} l'?__‘} oj

Question: ' - y
4={0e5:1an0(1+5 tan(20)) = V5 - an(20)] HQBS Srese
QoS =

Topic: Mathematics-Section B

Item No: 88

Question ID: 154771545288

Question Type:

Numeric Answer

2 _z .9 Q9 HOT H08Y Somgen z=a+ib, b£0 0 DF0R,

Question:
2 = (z+1)" eo3$5EY. 1 € 1T, T/ ¥DD Dendd .
Topic: Mathematics-Section B
Iltem No: 89
Question ID: 154771545289

Question Type:

Numeric Answer

2.8 DODE 4 Ben) DO 6 VY 220SVENTI®) Q. oN[ARTARL eTon
ST DO DODET 0D e, B oS Bew)

Question: o e :
20650 HoR: X edNFT0R. X TE) DV)ed 42 0N, 1006° =

Topic: Mathematics-Section B

Item No: 90

Question ID: 154771545290

Question Type:

Numeric Answer




sinx

Question: QTS0 jﬁaﬁi" (6x) .. SdeNad=
i




